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2 1 | The quadratic formula is:
< b b? + dac __ bayb—dac
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= ' Y i 2 | If @ B are roots of equation 742 - 4 = 0
then P is: Q =k
\ 3 -1 1 0 R J)fr-,nﬁﬂljr;dﬂ 3
- . | _ Sum of cube r ) £
| =2 (i fase i et afabasd| 4
| Rano Consequent | Aniccedent Relation  |In & rati is called: -
I 1 3 4 75 ' :g’..'-fp"“nyﬂ*i:x::i:l.sﬁr 5 [
4 3 il R in proportion 4 : x::5: 15 :
- = x2 +1
jo A , B |Az+B_ € A . B **'-"‘j"&; ez (x+1)x =T) ”
TEAl 3T | 2+l "1 X41 x-1 xt 4l
| Partial fractions of T jix—1) 2re of the form:
o bLANE | 7
Eenpty s=t A collection of well defined objects is called:
U e s ANBInACB | g
If AcB then ANB is cqual to:
e et | o
Histogram A grouped frequency table is called:
- -e-builiiie LSt il 10
Froportion Mean is affected by change in: :
I-tan® @ l4+cos’® | 1+tn?e I-sin? 0 sec’B= 1
Llemfy | a be, B P : .
Half of any B e Double of the M,;;,, L L tunl] 12
chord | unegqual diameter ofa circlura
| A Z A b ___ oGO mng| 1
Center Diameter Chard Secant A circle has only one:
; UhiKen it g bheaI¥ 60° S mdira G| 14
? , - A dcm long chord subtands a central s
- angle of 60° the radial segment of this circle is:
i . i A A T
| Radis | Bounday | Sepmens Chord | The circumference of circle s called: _
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( Part-1 Jil ddas ) i
Write short answers to any SIX parts, ﬁalmﬂﬁﬂmﬁy 2 ®
Write the equation in standard form: %;"':_;:'*4'—'“ _E_;%“:;_I”_n N e ST ]
Solvethe equation: X2+ 2x=2=0 wazn=2=0 2 MHaule (i)
Solve: Y IX+IB mx TIATE =x ES G
Evaluste: 1= 300=3a) (1-3do=30?) ZLabaF )

(femxt+(menjaen=£=0 iéquMhJ!U;tJMMJ!&'ﬂJI;MH v

Without solving find the sum and product of the roats of quadratic equation: [+ mx? + i+ n)x +nged =0

Find o if: n-ﬂ wa It ol ()

Inee{—m“-"mn x=3 find * when ¥ =24 Y= Galafe x Jp x=] = ,,ng.:lﬁ {vii)
E al [

N : R . P-4 p'-q gi e adae gy e (i)

Find the third propartional of: 3" 7 » T3y T+l @+ 5

Find the fourth proportional of: 4x* , 2x? |, 1§
Wrile short answers 1o any Slilltﬁhi-ts i1 ggwyﬂﬁﬁdztfc.(lf -3
What is proper fraction? Gl \ et ah (i)
How can we make panial fractions af m% e $ rhg-gﬁﬂhﬁ_,,{f:r@ﬁ J il_:zh (i)
IFX={1,4,7,9},¥={2,4,5 9} then ﬁudQQﬁﬁ-ﬁ-’ YUX Joy=(2,4,59 - X={1,4,7,5 S ()
Define a function. LA v

Lt KNYUZ) e 7= 17,19,23) 0 Y = {0,2,4,6,...,20} « X={1,3,5,7,..., 1908 (v}
WX ={1,3,5%....19),Y, ,6,....20) and Z = (2,3,5,7, 11,13, 17, 19, 23} then find XN(YUZ),

A, 0, 1B b 3y (ix)

Write all the subsets of fay b GO 3 k) (vi)

Find arithmetic &s 350, 375, 270, 320, 200 200, 225, 350, 375, 270, 320, 200 :ZEeP Al (vil)
Define & frequency distribution. L0 il
Define mode. el (i)
Write short answers to any SIX parts, ' -éﬁiM&WI{ sl
Define ratio and give one example. il
Find a third proportional to 28 and 4, BN Wed G
Define an angle. ; AL i)
Convert g 1o degres. Ebathi @
Find r when ¢ = S6em and § = 45* _érpg_gqj P in0=45" ) E=S6em 5 (y)

(eiik )



Prove that: {|_.;m1m+mzﬂ}_=l' (I-mjﬂj(lnm’ﬂ]zl _:5'{_'#3 [vi)
58° into D°, M' and §" form, B S M D[ 6158 (i)

mZA =60° 4 mAC =4cm « mAB = Sem GE o mBC (£ BABC  (viii)

mAC = 4cm and mZA =60°
Lok iESlS @

Express -67.

Ina AABC, calculate mBC when mAB = Sem

Divide an arc of any length into two equal parts.
e g9 A -unAd 08 Lz L el einde 3 pipaas
Pari - 11, Auempt any THREE questions. Each question carries 08 marks. Question No. 9 is compulsory..
M Solve the equation: Ix+5=+ Tx+16 Ix+5=+ Tx+l g N Y ()
M urat,p Lﬂxﬁférh&hbl}ﬂ& il %7 Q 0=tl=p - ati (L)
If @, [§ are the roots of the equation 42 _3x +6=0- form equationah s are o? A2
s s = i SIread S Lok (I
<o ) . fi 4By a0k + 32 _ 3yz
3z if * y-z

Using theorem of componendo dividendo, @k

2 _a
| Resolve into partial fractions: — Sx 4]
(x=1)%

LiM={y|lyePay<10} L={x|xeNaxs5} i) -

4 R={xNIy=%} :Z kb
u'l_,;{xlxeﬁnxsi} M=1 nyf;lﬂ},ﬂmnmﬂkﬁthcrelatiﬁnﬁwnl.mm
R={x.y=x}

4 Find the standard devidfignof the data: 9,3,8,8,9,8,9,18 el (o)
Verify: (tan 0+ cot B)(cos 0 +sin ) = secB + cosech Lk (L) _8

Draw circle which touches both the arms of angle 45°, Jtﬁfdi:-ﬁLuM 45° _slis g:f'b ()

Lusleiifilee }f}uff;,.lﬁj I.w"’bm!:-f_fhflfé =at 29

Prove that if two chords of a circle are congruent then they will be equidistant from the center.
- 0OR = - L —
Utz Sduy Wl she b G:gl.f‘. SE

gents drawn to a circle from a point outside it, are equal in length.
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Prove that two tan



